| O. Divide decinabs to solve problems (2) = ANSIWERS

Problem 9

DW’ Ron and T@dd(?( are majemq paper chains, My paper chain Dora’s paper chain ~‘

. oD is 1.1 m long. is twice as long
a.) Houw Lonq is Ron's paper chain'? as mine. :

Dora My paper chain on

b.) Hou long is Teddy's papen e
chamr') Teddy

Problem |0 Problem | |
A waten boitle holds 2 lires Shop A sels 5 tins of paint for £2310 N

Balint

A ledk in the botlle means that 25 ml drips
mmw.

Shop B <elis 3 tns off the same pairt fon € 1101
Which, hop should Mivs Rees buy her paint from? Shop B

wawwwmmw
boiﬂ,evsempt%’? days _

Problem | 2 Problem |3
1876 +8=172kg  Eadvlarge T'n thiking of o 3-digh rumber

planb pob wil contain .72 kg of compost
|8 kg — 13./6 kg = -2 kg She now has

2l g to share equally between b small plart pots.
L2k + L= .06 kg Eadby smal plant pot uil

WMIM%WS,IWWMQWWS.
When I divide it by |0, T am lefs wih a remainden of 8.
It rounds to 200 1o the nearess | 00.

It has one hundred.
cortain |.06 g of compost ' What coud my numben be?
Problem |l Problem |5
) U%%moﬁj%@nwnmm%@wm@mto
. _ he difference between the col VPW@@CI’L these dinvision
252 D I — ;reate?; and the tsmct[leit caedlations 04: 7 6 8 9
31.2 -+ D= answer in this group of )
calculations is 10.5.
SRR — A digih cand cans orly be used once i each calulaton
6+ 8=1,
55.2+3=1%.4 a) 96+8=12
31.2+3=10.4 b) 9.2-7=1.4
23.7+3=749 c) 7.6-8=0095




